; compulsorily draw diagonal cross lines on the remaining blank pages.'a G

Importént Note : 1. On eorhpleting your answers

2.‘Any revealing of identification

50, will be treated as m“alpractice. it i

| 1’5,MAT,‘2,‘1‘?‘ |

, appeal to evaluator and /or equations written eg, 42+8

Form the partlal dl erential equat;on by ehmmatmg the arbltrary function,

3 2 A e g
Solve —c—l———-f- 2 d }2, dy (06 Marks)
dx dx dx v s P
(05 Marks)
2
Solve 3—}1 - (05 Marks)
, OR: , * ; :
Solve y"+ 2y’ +y =xsin x by inverse diffe ntial operator method. -~ 06 Marks)
Solve ( 224D+ S)y =2xe> by inverse differential operator method. (05 Marks) .
Solve (,D 3D+ Z)y =x*+e" by:*i‘theg method of undete%ed co-efficient. (05 Marks)
Solve (2X + 1)2 y" - 6(2x y’ +16y = 8(2x + 1)2 (06 Marks)
*Solve x*p* +2xp-y= 0 bykusolvmg fory. 4 (05 Marks)
Solve y=2px+y’p’, (05 Marks)
Solve x*y"+ xy'+9y =3x"sin [3 logx] wls : ’ 5 (06 Marks)
Solve xy(g ) (x +y )———+ xy 0. (05 Marks)
. X ‘ur“ v..fzut,.

Solve Xp —py+kp+a 0 by reducmg int Cfa1raut s form. Hence ﬁnd smgular solution.
f (05 Marks) -

z=¢(x +ay)+y(x -ay). @5 Marks)

5 ; . : )
z . 1% " .
Solve =sinxcosy, given that 5}% =-2cosy when x=0and z=0when y=nm ..c: - =
| (05 Marks)
*u ,0%u
Derive one dlmensmn,al wave equation ol C'— e . . (06 Marks)
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OR

6. Obtam the part1a1 d1fferent1al equatlon (I)(x +y+2z,x +=~»y2 i ): 0. : 05 Mari(‘s')
2 | b _-— . 3
b. Solve —f =z given that z=0 and ] =sinx when'y = 0. (05 Marks)

R Fmd the solutlon of neat equatlon % = C2 ST by the method of separatlon of Varlables

06 Marks) ‘

s 0] Module-4 i et
a3 c b a . G L
7 a. Evaluate _[ j I x> +y’+z )dz dydx B 4 (05 Marks) .’
o “¢ -b -a ¢ ‘ i

1Jx

) Evaluate _" jxy dydx by Q&%gmg the order of inte (05 Marks) ok

2
” (06 Marks) =
8 \:f a (05 Mari(s) : -
b (05 Marks)
c. (06 Marks) .

9 a Find L]te™ it 4t] : (05 Marks)

b Giveh that £(t)= 5 letep
- Giv
’ —-a, a<t<2

(where f(t+ 2a) f(t) Show that L{f (t)}: %tanh(%) L5

4 .

(s Marks)"-i oA
n that y(0) =y (0) = 0 by using Laplace transform method. i
(06 Marks) .

. »:&V’Ok ' "
(05 Marks)
} by usmg“‘convolutlon theorem (05 Marks

Express f (t)— I gm<t<27r in term of umt step functlon and hence ﬁnd 1ts Laplace‘
sint t>2n ' 2t

transform, (06 Marks) ©

% % k & ok
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